BID TABULATIONS

Contract No:DH00247

County:Moore

Replacement of Bridge #14 over Horse Creek on SR 1102 (Thunder Rd)

Bid Opening Date: 6/13/2017 at 2:00 PM

					1				
				R.E. BURNS	& SONS CO., INC.	SMITH-F	ROWE, LLC	DANE CONST	RUCTION, INC.
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1	LS	\$40,000.00	\$40,000.00	\$42,000.00	\$42,000.00	\$43,100.00	\$43,100.00
2	Generic Miscellaneous Item - Permanent Shoring	500	SF	\$55.00	\$27,500.00	\$105.97	\$52,985.00	\$210.00	\$105,000.00
3	Bridge Approach Fill - Sub-Regional Tier, Sta. 18+90.00 -L-	1	LS	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
4	Grading	1	LS	\$150,500.00	\$150,500.00	\$141,000.00	\$141,000.00	\$144,000.00	\$144,000.00
5	Supplementary Clearing & Grubbing	1	Acre	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
6	Undercut Excavation	1,375	CY	\$14.30	\$19,662.50	\$14.30	\$19,662.50	\$14.30	\$19,662.50
7	Select Granular Material	908	CY	\$16.00	\$14,528.00	\$16.00	\$14,528.00	\$16.00	\$14,528.00
8	Geotextile for Soil Stabilization	400	SY	\$1.16	\$464.00	\$1.16	\$464.00	\$1.16	\$464.00
9	Rock Plating	225	SY	\$29.00	\$6,525.00	\$29.00	\$6,525.00	\$29.00	\$6,525.00
10	Reinforced Soil Slopes	650	SY	\$60.00	\$39,000.00	\$90.00	\$58,500.00	\$90.00	\$58,500.00
11	Foundation Conditioning Material, Minor Structures	10	Ton	\$20.00	\$200.00	\$20.00	\$200.00	\$20.00	\$200.00
12	Foundation Conditioning Geotextile	20	SY	\$3.00	\$60.00	\$3.00	\$60.00	\$3.00	\$60.00
13	15" Drainage Pipe	20	LF	\$43.00	\$860.00	\$43.00	\$860.00	\$43.00	\$860.00
14	15" Drainage Pipe Elbows	2	Ea	\$125.00	\$250.00	\$125.00	\$250.00	\$125.00	\$250.00
15	15" RC Pipe Culverts, Class IV	24	LF	\$45.00	\$1,080.00	\$45.00	\$1,080.00	\$45.00	\$1,080.00
16	Shallow Undercut	100	CY	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
17	Class IV Subgrade Stabilization	100	Ton	\$19.00	\$1,900.00	\$19.00	\$1,900.00	\$19.00	\$1,900.00
18	Incidental Stone Base	15	Ton	\$25.00	\$375.00	\$25.00	\$375.00	\$25.00	\$375.00
19	Incidental Milling	300	SY	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00
20	Asphalt Concrete Base Course, Type B25.0B	525	Ton	\$79.00	\$41,475.00	\$75.00	\$39,375.00	\$75.00	\$39,375.00
21	Asphalt Concrete Intermediate Course, Type I19.0B	250	Ton	\$85.00	\$21,250.00	\$75.00	\$18,750.00	\$75.00	\$18,750.00
22	Asphalt Concrete Surface Course, Type SF9.5A	325	Ton	\$92.00	\$29,900.00	\$80.00	\$26,000.00	\$80.00	\$26,000.00
23	Asphalt Binder for Plant Mix	60	Ton	\$468.00	\$28,080.00	\$400.00	\$24,000.00	\$400.00	\$24,000.00
24	Right of Way Markers	5	Ea	\$200.00	\$1,000.00	\$200.00	\$1,000.00	\$215.00	\$1,075.00

bid_Tab Page 1 of 6

				R.E. BURNS & SONS CO., INC.		C. SMITH-ROWE, LLC		DANE CONSTRUCTION, INC.	
ITEM NO	ІТЕМ	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
25	Masonry Drainage Structure	2	Ea	\$1,600.00	\$3,200.00	\$1,600.00	\$3,200.00	\$1,600.00	\$3,200.00
26	Frame with Two Grates, Std 840.29	2	Ea	\$375.00	\$750.00	\$375.00	\$750.00	\$375.00	\$750.00
27	Shoulder Berm Gutter	40	LF	\$60.00	\$2,400.00	\$80.00	\$3,200.00	\$35.00	\$1,400.00
28	Steel Beam Guardrail	250.0	LF	\$16.00	\$4,000.00	\$16.00	\$4,000.00	\$16.00	\$4,000.00
29	Additional Guardrail Posts	5	Ea	\$11.00	\$55.00	\$11.00	\$55.00	\$11.00	\$55.00
30	Guardrail Anchor Units, Type III	4.00	Ea	\$1,550.00	\$6,200.00	\$1,550.00	\$6,200.00	\$1,550.00	\$6,200.00
31	Guardrail Anchor Units, Type 350	4	Ea	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00
32	Rip Rap, Class A	520	Ton	\$35.00	\$18,200.00	\$35.00	\$18,200.00	\$35.00	\$18,200.00
33	Rip Rap, Class B	1	Ton	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00
34	Geotextile for Drainage	200	SY	\$2.00	\$400.00	\$2.00	\$400.00	\$2.00	\$400.00
35	Temporary Traffic Control	1	LS	\$4,210.00	\$4,210.00	\$5,135.00	\$5,135.00	\$5,135.00	\$5,135.00
36	ThermoPlastic Pavement Marking Lines (4", 90mils)	1,570	LF	\$2.50	\$3,925.00	\$1.99	\$3,124.30	\$1.40	\$2,198.00
37	ThermoPlastic Pavement Marking Lines (4", 120mils)	1,570	LF	\$2.50	\$3,925.00	\$2.04	\$3,202.80	\$1.50	\$2,355.00
38	Permanent Raised Pavement Markers	20	Ea	\$17.00	\$340.00	\$9.00	\$180.00	\$8.00	\$160.00
39	Temporary Silt Fence	1,695.00	LF	\$1.00	\$1,695.00	\$1.00	\$1,695.00	\$1.00	\$1,695.00
40	Stone for Erosion Control, Class A	65	Ton	\$21.00	\$1,365.00	\$21.00	\$1,365.00	\$21.00	\$1,365.00
41	Stone for Erosion Control, Class B	25	Ton	\$21.00	\$525.00	\$21.00	\$525.00	\$21.00	\$525.00
42	Sediment Control Stone	75.0	Ton	\$18.00	\$1,350.00	\$18.00	\$1,350.00	\$18.00	\$1,350.00
43	Temporary Mulching	1	Acre	\$950.00	\$475.00	\$950.00	\$475.00	\$950.00	\$475.00
44	Seed for Temporary Seeding	100.00	LB	\$2.00	\$200.00	\$2.00	\$200.00	\$2.00	\$200.00
45	Fertilizer for Temporary Seeding	0.50	Ton	\$600.00	\$300.00	\$600.00	\$300.00	\$600.00	\$300.00
46	Temporary Slope Drains	200	LF	\$4.00	\$800.00	\$4.00	\$800.00	\$4.00	\$800.00
47	Safety Fence	600.00	LF	\$1.65	\$990.00	\$1.65	\$990.00	\$1.65	\$990.00
48	Silt Excavation	30	CY	\$5.00	\$150.00	\$5.00	\$150.00	\$5.00	\$150.00
49	Matting for Erosion Control	8910	SY	\$1.00	\$8,910.00	\$1.00	\$8,910.00	\$1.00	\$8,910.00
50	Coir Fiber Mat	100	SY	\$3.25	\$325.00	\$3.25	\$325.00	\$3.25	\$325.00
51	1/4" Hardware Cloth	315.00	LF	\$2.50	\$787.50	\$2.50	\$787.50	\$2.50	\$787.50
52	Coir Fiber Baffle	10	LF	\$14.50	\$145.00	\$14.50	\$145.00	\$14.50	\$145.00
53	Seeding & Mulching	2.0	Acre	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
54	Mowing	1.0	Acre	\$10.00	\$10.00	\$75.00	\$75.00	\$75.00	\$75.00
55	Seed for Repair Seeding	50.0	LB	\$3.50	\$175.00	\$3.50	\$175.00	\$3.50	\$175.00

bid_Tab Page 2 of 6

				R.E. BURNS	& SONS CO., INC.	SMITH-F	ROWE, LLC	DANE CONST	RUCTION, INC.
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
56	Fertilizer for Repair Seeding	0.3	Ton	\$1,125.00	\$281.25	\$1,125.00	\$281.25	\$1,125.00	\$281.25
57	Seed for Supplemental Seeding	50.0	LB	\$2.00	\$100.00	\$2.00	\$100.00	\$2.00	\$100.00
58	Fertilizer Topdressing	1	Ton	\$750.00	\$375.00	\$750.00	\$375.00	\$750.00	\$375.00
59	Specialized Hand Mowing	10	Mhr	\$10.00	\$100.00	\$18.00	\$180.00	\$18.00	\$180.00
60	Response for Erosion Control	13	Ea	\$1.00	\$13.00	\$1.00	\$13.00	\$1.00	\$13.00
61	Reforestation	1.00	Acre	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00
62	Generic Erosion Control Item, Concrete Washout Structure	2	Ea	\$435.00	\$870.00	\$435.00	\$870.00	\$435.00	\$870.00
63	Removal of Existing Structure atStation 18+90.00 -L-	1	LS	\$35,000.00	\$35,000.00	\$86,500.00	\$86,500.00	\$25,405.00	\$25,405.00
64	PDA Testing	1.00	Ea	\$3,000.00	\$3,000.00	\$3,375.00	\$3,375.00	\$3,000.00	\$3,000.00
65	Unclassified Structure Excavation at Station 18+90.00 -L-	1	LS	\$6,000.00	\$6,000.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00
66	Class A Concrete (Bridge)	40.4	CY	\$1,200.00	\$48,480.00	\$762.41	\$30,801.36	\$1,050.00	\$42,420.00
67	Bridge Approach Slabs, Station 18+90 00 .L.	1.0	LS	\$18,000.00	\$18,000.00	\$21,725.00	\$21,725.00	\$13,030.00	\$13,030.00
	Reinforcing Steel (Bridge)	4898.0	LB	\$2.00	\$9,796.00	\$1.16	\$5,681.68	\$1.00	\$4,898.00
69	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.0	Ea	\$1,300.00	\$13,000.00	\$446.46	\$4,464.60	\$825.00	\$8,250.00
70	HP 12 x 53 Steel Piles	270.0	LF	\$25.00	\$6,750.00	\$35.96	\$9,709.20	\$35.00	\$9,450.00
71	Steel Pile Points	10	Ea	\$200.00	\$2,000.00	\$205.00	\$2,050.00	\$125.00	\$1,250.00
72	Vertical Concrete Barrier	140	LF	\$170.00	\$23,842.50	\$119.93	\$16,820.18	\$107.00	\$15,006.75
73	Rip Rap Class II (2'-0'' Thick)	204.00	Ton	\$33.00	\$6,732.00	\$33.00	\$6,732.00	\$33.00	\$6,732.00
74	Geotextile for Drainage	228	SY	\$2.00	\$456.00	\$2.00	\$456.00	\$2.00	\$456.00
75	Elastomeric Bearings	1.0	LS	\$4,400.00	\$4,400.00	\$1,850.00	\$1,850.00	\$7,500.00	\$7,500.00
76	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	700.0	LF	\$208.00	\$145,600.00	\$154.02	\$107,814.00	\$181.00	\$126,700.00
77	Generic Structure Item, Asbestos Assessment	1.0	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
•			_		\$837,313.75		\$842,528.38		\$862,043.00

Bidder No. 1: R.E. BURNS & SONS CO., INC.

Bidder No. 2: SMITH-ROWE, LLC

Bidder No. 3: DANE CONSTRUCTION, INC.

Bidder No. 4: PALMETTO INFRASTRUCTURE INC

Bidder No. 5: DELLINGER, INC.

bid_Tab Page 3 of 6

BID TABULATIONS

Contract No:DH00247

County:Moore

Replacement of Bridge #14 over Horse Creek on SR 1102 (Thunder Rd)

Bid Opening Date: 6/13/2017 at 2:00 PM

		PALMETTO INFRASTRUCTURE					
TTEM NO	TTTM	OLI A NITHTSI	LINUTEC	UNIT PRICE	INC	DELLIN UNIT PRICE	GER, INC. AMOUNT BID
ITEM NO	Mobilization ITEM	QUANTITY 1	UNITS LS	\$45,000.00	AMOUNT BID \$45,000,00	\$45,000.00	\$45,000.00
1				, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		. ,
2	Generic Miscellaneous Item - Permanent Shoring	500	SF	\$40.00	\$20,000.00	\$170.00	\$85,000.00
3	Bridge Approach Fill - Sub-Regional Tier, Sta. 18+90.00 -L-	1	LS	\$8,500.00	\$8,500.00	\$10,000.00	\$10,000.00
4	Grading	1	LS	\$89,500.00	\$89,500.00	\$131,000.00	\$131,000.00
5	Supplementary Clearing & Grubbing	1	Acre	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
6	Undercut Excavation	1,375	CY	\$22.00	\$30,250.00	\$14.30	\$19,662.50
7	Select Granular Material	908	CY	\$24.00	\$21,792.00	\$16.00	\$14,528.00
8	Geotextile for Soil Stabilization	400	SY	\$4.50	\$1,800.00	\$1.16	\$464.00
9	Rock Plating	225	SY	\$75.00	\$16,875.00	\$29.00	\$6,525.00
10	Reinforced Soil Slopes	650	SY	\$36.00	\$23,400.00	\$90.00	\$58,500.00
11	Foundation Conditioning Material, Minor Structures	10	Ton	\$65.00	\$650.00	\$20.00	\$200.00
12	Foundation Conditioning Geotextile	20	SY	\$6.00	\$120.00	\$3.00	\$60.00
13	15" Drainage Pipe	20	LF	\$70.00	\$1,400.00	\$43.00	\$860.00
14	15" Drainage Pipe Elbows	2	Ea	\$35.00	\$70.00	\$125.00	\$250.00
15	15" RC Pipe Culverts, Class IV	24	LF	\$85.00	\$2,040.00	\$45.00	\$1,080.00
16	Shallow Undercut	100	CY	\$20.00	\$2,000.00	\$10.00	\$1,000.00
17	Class IV Subgrade Stabilization	100	Ton	\$45.00	\$4,500.00	\$19.00	\$1,900.00
18	Incidental Stone Base	15	Ton	\$65.00	\$975.00	\$25.00	\$375.00
19	Incidental Milling	300	SY	\$24.00	\$7,200.00	\$5.00	\$1,500.00
20	Asphalt Concrete Base Course, Type B25.0B	525	Ton	\$79.00	\$41,475.00	\$75.00	\$39,375.00
21	Asphalt Concrete Intermediate Course, Type I19.0B	250	Ton	\$85.00	\$21,250.00	\$75.00	\$18,750.00
22	Asphalt Concrete Surface Course, Type SF9.5A	325	Ton	\$92.00	\$29,900.00	\$80.00	\$26,000.00
23	Asphalt Binder for Plant Mix	60	Ton	\$468.00	\$28,080.00	\$400.00	\$24,000.00
24	Right of Way Markers	5	Ea	\$200.00	\$1,000.00	\$0.00	\$0.00

bid_Tab Page 4 of 6

				PALMETTO INFRASTRUCTURE INC		DELLINGER, INC.	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
25	Masonry Drainage Structure	2	Ea	\$1,200.00	\$2,400.00	\$1,600.00	\$3,200.00
26	Frame with Two Grates, Std 840.29	2	Ea	\$1,000.00	\$2,000.00	\$375.00	\$750.00
27	Shoulder Berm Gutter	40	LF	\$75.00	\$3,000.00	\$40.00	\$1,600.00
28	Steel Beam Guardrail	250.0	LF	\$16.00	\$4,000.00	\$16.00	\$4,000.00
29	Additional Guardrail Posts	5	Ea	\$11.00	\$55.00	\$11.00	\$55.00
30	Guardrail Anchor Units, Type III	4.00	Ea	\$1,550.00	\$6,200.00	\$1,550.00	\$6,200.00
31	Guardrail Anchor Units, Type 350	4	Ea	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00
32	Rip Rap, Class A	520	Ton	\$65.00	\$33,800.00	\$35.00	\$18,200.00
33	Rip Rap, Class B	1	Ton	\$260.00	\$260.00	\$300.00	\$300.00
34	Geotextile for Drainage	200	SY	\$5.00	\$1,000.00	\$2.00	\$400.00
35	Temporary Traffic Control	1	LS	\$5,135.00	\$5,135.00	\$3,840.00	\$3,840.00
36	ThermoPlastic Pavement Marking Lines (4", 90mils)	1,570	LF	\$1.29	\$2,025.30	\$1.40	\$2,198.00
37	ThermoPlastic Pavement Marking Lines (4", 120mils)	1,570	LF	\$1.39	\$2,182.30	\$1.50	\$2,355.00
38	Permanent Raised Pavement Markers	20	Ea	\$25.00	\$500.00	\$8.00	\$160.00
39	Temporary Silt Fence	1,695.00	LF	\$2.15	\$3,644.25	\$1.00	\$1,695.00
40	Stone for Erosion Control, Class A	65	Ton	\$65.00	\$4,225.00	\$21.00	\$1,365.00
41	Stone for Erosion Control, Class B	25	Ton	\$85.00	\$2,125.00	\$21.00	\$525.00
42	Sediment Control Stone	75.0	Ton	\$70.00	\$5,250.00	\$18.00	\$1,350.00
43	Temporary Mulching	1	Acre	\$1,400.00	\$700.00	\$950.00	\$475.00
44	Seed for Temporary Seeding	100.00	LB	\$6.00	\$600.00	\$2.00	\$200.00
45	Fertilizer for Temporary Seeding	0.50	Ton	\$2,400.00	\$1,200.00	\$600.00	\$300.00
46	Temporary Slope Drains	200	LF	\$12.00	\$2,400.00	\$4.00	\$800.00
47	Safety Fence	600.00	LF	\$2.00	\$1,200.00	\$1.70	\$1,020.00
48	Silt Excavation	30	CY	\$35.00	\$1,050.00	\$5.00	\$150.00
49	Matting for Erosion Control	8910	SY	\$1.90	\$16,929.00	\$1.00	\$8,910.00
50	Coir Fiber Mat	100	SY	\$6.00	\$600.00	\$3.25	\$325.00
51	1/4" Hardware Cloth	315.00	LF	\$4.00	\$1,260.00	\$2.50	\$787.50
52	Coir Fiber Baffle	10	LF	\$8.00	\$80.00	\$14.50	\$145.00
53	Seeding & Mulching	2.0	Acre	\$2,600.00	\$5,200.00	\$1,500.00	\$3,000.00
54	Mowing	1.0	Acre	\$500.00	\$500.00	\$75.00	\$75.00
55	Seed for Repair Seeding	50.0	LB	\$5.00	\$250.00	\$3.50	\$175.00

bid_Tab Page 5 of 6

					FRASTRUCTURE INC	DELLIN	GER, INC.
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
56	Fertilizer for Repair Seeding	0.3	Ton	\$2,400.00	\$600.00	\$1,125.00	\$281.25
57	Seed for Supplemental Seeding	50.0	LB	\$7.00	\$350.00	\$2.00	\$100.00
58	Fertilizer Topdressing	1	Ton	\$2,400.00	\$1,200.00	\$750.00	\$375.00
59	Specialized Hand Mowing	10	Mhr	\$65.00	\$650.00	\$18.00	\$180.00
60	Response for Erosion Control	13	Ea	\$300.00	\$3,900.00	\$1.00	\$13.00
61	Reforestation	1.00	Acre	\$1,900.00	\$1,900.00	\$300.00	\$300.00
62	Generic Erosion Control Item, Concrete Washout Structure	2	Ea	\$1,000.00	\$2,000.00	\$435.00	\$870.00
63	Removal of Existing Structure atStation 18+90.00 -L-	1	LS	\$50,000.00	\$50,000.00	\$18,000.00	\$18,000.00
64	PDA Testing	1.00	Ea	\$4,000.00	\$4,000.00	\$2,390.00	\$2,390.00
65	Unclassified Structure Excavation atStation 18+90.00 -L-	1	LS	\$10,000.00	\$10,000.00	\$4,200.00	\$4,200.00
66	Class A Concrete (Bridge)	40.4	CY	\$1,000.00	\$40,400.00	\$1,730.00	\$69,892.00
67	Bridge Approach Slabs, Station 18+90 00 .L.	1.0	LS	\$20,000.00	\$20,000.00	\$27,500.00	\$27,500.00
	Reinforcing Steel (Bridge)	4898.0	LB	\$2.00	\$9,796.00	\$1.00	\$4,898.00
69	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.0	Ea	\$4,000.00	\$40,000.00	\$500.00	\$5,000.00
70	HP 12 x 53 Steel Piles	270.0	LF	\$32.00	\$8,640.00	\$25.20	\$6,804.00
71	Steel Pile Points	10	Ea	\$150.00	\$1,500.00	\$171.00	\$1,710.00
72	Vertical Concrete Barrier	140	LF	\$165.00	\$23,141.25	\$145.00	\$20,336.25
73	Rip Rap Class II (2'-0" Thick)	204.00	Ton	\$75.00	\$15,300.00	\$33.00	\$6,732.00
74	Geotextile for Drainage	228	SY	\$5.00	\$1,140.00	\$2.00	\$456.00
75	Elastomeric Bearings	1.0	LS	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
76	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	700.0	LF	\$175.00	\$122,500.00	\$240.00	\$168,000.00
77	Generic Structure Item, Asbestos Assessment	1.0	LS	\$4,500.00	\$4,500.00	\$1,500.00	\$1,500.00

\$885,565.10 \$904,122.50

Bidder No. 1: R.E. BURNS & SONS CO., INC.

Bidder No. 2: SMITH-ROWE, LLC

Bidder No. 3: DANE CONSTRUCTION, INC.

Bidder No. 4: PALMETTO INFRASTRUCTURE INC

Bidder No. 5: DELLINGER, INC.

bid_Tab Page 6 of 6